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M.D. SENIOR SECONDRY SCHOOL-MANKROLA(GRG)
HOMEWORK FILE
CLASS-VII
SUBJECT-ENGLISH
DATED-24-07-20

1.Learn the question and answer of the lesson-The wettest place
on the earth.

2.Do the reading of the lesson-China’s Gift to the world.

3.Find the difficult words from the lesson, write their meanings in

your fair copy. And learn them.
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HOME ASSIGNMENT OF 7" CLASS MATHS  DATE: 24.07.2020

CHAPTER-1 (KNOWING OUR NUMBERS)  Assignment - 1.4
Do the following in your fair notebook .

2. A five-storey building has two floors in basement and three floors above the ground.
Total height of the building from basement is 30 m and each floor is of the same
height. One person is standing on the lowest basement and another is standing at

the roof of the top floor. Find at what distances both persons are standing from the
ground ?

3. A six-storey building has 36 m height. A monkey can climb 3 m in one jump. In how
many jumps would the monkey reach at the top of the building ?

4. The height of a particular tree is increasing at the rate of 10 em per month. What
would be height of the tree after 5 years if its present height is 10 m ?

[Assuming the growth of the tree is uniform.|

5. Ramesh deposited ¥ 5000 in his bank account on Tuesday and withdrew ¥ 2500
on Wednesday. Next day (on Thursday), he again deposited ¥ 1500. What was his
balance on Thursday ?

6. A person gained ¥ 1000 in one transaction and lost ¥ 1200 in another transaction.
Did the person gain or lose during the whole transaction and by how much ?

7. The sum of two integers is —250. If one integer is 100, find the other one.
8. The difference between two integers is —25. If one integer is 45, find the other one.

9. The product of two negative integers is 400. If one integer is — 10, find the other
integer.

10. An A.C. cools the room at the rate of 5°C per hour. What would be the final temperature
of the room after 6 hours, if the initial temperature of the room is 40°C ?

SOLUTION OF THESE QUESTIONS :-

2. Length of 5 storey building = 30 m Baraai
i

L.ength of 1 storey = 30 = 6 m
A1

Distance of the person standing
onn the lowest basement from the
ground floor =2 x 6 m =12 m.
Distance of the person standing on
the top ficor from the ground ficor
=3 x6m=18 m.

3. The monkey travels 3 m in 1 jump.
The monkey travels 36 m in 36 = 3 = 12 jumps.
Hence, the reguired no. of jumps is 12.

GLF.

Pearson



10.

4. Present height of the tree = 10 m
Growth of tree in 1 month = 10 cm

Growth of tree in 5 vears (i.e. 60 months) = 60 x 10 em
=600 cm =6 m

Total height of tree in 5 years=10m + 6 m = 16 m.

5. Deposited money on Tuesday =< 5000

Withdrawn money on Wednesday =< 2500
Balance on Wednesday = T (5000 — 2500)

=3 2600

Deposited money on Thursday =< 1500
Balance on Thursday =3 2500 + T 1500

=T 4000

.. the balance on Thursday is T 4000.

Gained in one transaction = + ¥ 1000
Loss 1n other transaction =—-% 1200

Balance during the whole transaction
=< (1000 — 1200) = — 200
‘" sign means loss, i.e. T 200 loss.
Let the other number be x.
100 + x =— 250
or x =—250- 100 =-350
. the required number is — 350.
Let the other integer be x.
Here, we have two situations :
(i) 4b—x=-25 or 45 +25=x or x=T0
(ii) x—45=—25 or x=-—25+45=20
the required number is either 70 or 20.
Let the other integer be x.

So, —10xx=400 or ...l =400

—10 14
. the required number is — 40.

— 40

Total temperature to be cooled
= No. of hours x rate of cooling
=6x(—56)=-30°C

.. Final temperature = — 30°C + 40°C = 10°C



